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   1-     J0(x)   
 J1(x)    6,1=x   05,4=x  

 .4.1 
x  ( )xJ0

 )()( 01 xJxJ ′−=  x  ( )xJ0
 )()( 01 xJxJ ′−=  

1,60 0,455 0,570 2,85 -0,205 0,393 

1,65 0,427 0,574 2,90 -0,224 0,375 

1,70 0,398 0,578 2,95 -0,242 0,357 

1,75 0,369 0,580 3,00 -0,260 0,339 

1,80 0,340 0,581 3,05 -0,276 0,320 

1,85 0,311 0,582 3,10 -0,292 0,301 

1,90 0,282 0,581 3,15 -0,306 0,281 

1,95 0,253 0,579 3,20 -0,320 0,261 

2,00 0,224 0,577 3,25 -0,333 0,241 

2,05 0,195 0,573 3,30 -0,344 0,221 

2,10 0,166 0,568 3,35 -0,355 0,200 

2,15 0,138 0,563 3,40 -0,364 0,179 

2,20 0,110 0,556 3,45 -0,373 0,158 

2,25 0,083 0,548 3,50 -0,380 0,137 

2,30 0,055 0,540 3,55 -0,386 0,116 

2,35 0,029 0,530 3,60 -0,392 0,095 

2,40 0,002 0,520 3,65 -0,396 0,074 

2,45 -0,023 0,509 3,70 -0,399 0,054 

2,50 -0,048 0,497 3,75 -0,401 0,033 

2,55 -0,073 0,483 3,80 -0,403 0,013 

2,60 -0,097 0,471 3,85 -0,403 -0,007 

2,65 -0,120 0,457 3,90 -0,402 -0,627 

2,70 -0,142 0,442 3,95 -0,401 -0,047 

2,75 -0,164 0,426 4,00 -0,397 -0,066 

2,80 -0, 5 0,410 4,05 -0,393 -0,085 
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